Дифференцированного зачет
Дифференцированный зачет проводится в два этапа:

1этап – задания в тестовой форме выполняются самостоятельно. Задания предусматривают одновременную проверку знаний и умений по дисциплине у всех обучающихся.

2 этап - написание мини-рассказа.

4. Тест:
1. Образуйте множественное число от следующих существительных:
Bed, friend, name, book, day, factory, picture, child, shelf.

2. Дайте ответы на следующие специальные вопросы.Употребите слова, данные в скобках.

1. What is this? (a hat, a knife, a tie, a cat).

2. What a those? (glasses, matches, coats)

3. Who is he? (a student, a teacher).

3. Заполните пропуски соответствующей формой глагола to be.
1…these women old? 2.My teacher … a nice man.3.Ann … absent today.4. «What colour...those cups?” « They…blue». 5. «…the factory large?» «Yes, it…».

4. Переведите следующие словосочетания:
Один учитель-

Три доктора-

Пятнадцать пожарных-

Сорок парикмахеров-

Сто книг-

Первое января-

245-

816-

533-

Будущее девочки-

Жизнь студентов-

Форма полицейского-

5. Образуйте степени сравнения от следующих прилагательных:
Impotent, sad, easy, young, greedy, brave, merry, fat, thin, beautiful.

6. Переведите на английский язык:
Самый грустный, короче, интересный, самый интересный, самый светлый, моложе, толще, самый красивый.

7. Вставьте пропущенные предлоги:
1.I live…Washington.2.His glasses are…the table.3.She took an apple…her child.4.The meeting begings…five.5.We are going to visit a theatre…Saturday.6.Kate was born…1986.7.My children are…home.8.Put money…the pocket.9.She went…the river.10.The ball fall…the water.

8. Найдите прилагательное, имеющее отрицательное значение:
a) meaningful b) hopeful c) real d) unthinkable e) famous

9. К теме "Travelling" относится слово: 
a) Tree. b) Snow. c) Study. d) Pupil. e) Excursion. 

10. Найдите эквивалент: 
Ей следует приходить вовремя. 

a) Can she come? b) She is to come. 

c) She should come in time. d) She had to come in time. 

e) She needn’t come. 

11. Прочтите текст и ответьте на вопрос после текста: 
A traveller who had been riding in rain and was wet through, arrived at a small hotel in the country. There was only one fireplace in the hall and a lot of people around it. The traveller thought of a plan how to get warm. He asked the hotel owner to give some fish to his horse. The hotel owner was surprised but the traveller insisted and the hotel owner did as he was asked. All the people rushed out to see the horse eat fish. The traveller had the fireplace all to himself and felt comfortable. When the hotel owner had returned he said, "I was sure horses do not eat fish". - "Then why did you give it to my horse?". 

Why did the traveller ask the hotel owner to feed his horse with fish? 

a) because he was tired 

b) because he wanted to sleep 

c) because he wanted to get warm 

d) because he wanted to see the horse eat fish 

e) because it was hungry 

12. Найдите правильный вариант глагола. 

I think I … the report next Monday. 

a) am not finishing b) won’t finish 

c) don’t finish d) am not finished 

e) haven’t finished 

13. Найдите правильный вариант глагола. 
Professor Asher … another lecture at the same time next week. 

a) has been giving b) gives 

c) would give d) has given 

e) will be giving 

ЧАСТЬ В
1.What river does London stand on?
a.the Severn b.the Trent c. the Thames d.the Potomac

2.How many countries does the UK consist of?
a.3 b.4 c.5 d.6

3.What is the largest park in London?
a.Green Park b. St. James Park c.Hyde Park d.Regent s Park

4.How is the most important business part of London called?
a.the Town b.the City c.the Country d. the Capital

5.Who is the head of state in Great Britain?
a. a monarch b. a prime minister c. the House of Commons d.the House of Lords

6.Who is Prime Minister of Great Britain?
a.Margaret Thatcher b.David Cameron c. John Major d.James Callaghan

7.Who is present monarch of Great Britain?
a.Prince Charles b.Prince Henry c.Queen Elizabeth I d.Queen Elizabeth II

8.Where does the monarch of Great Britain live?
a.in Buckingham Palace b. in Westminster Abbey c.in the White House d. in the Tower of London

9.Choose the appropriate variant.
Ireland… «the Emerald Isle».

a.often is called b. is often called c. is called often d. is said often called

10. Choose the appropriate variant.
The shamrock… to St.Patrick.

a.is said to be connected b.is said connected c.is said be connected d.is said to be to connected.

Критерии оценивания тестовых заданий:
0 - 6 ошибок – «5»

7 – 10 ошибок – «4»

11 – 14 ошибок – «3»

15 и более ошибок – «2»

Ответы на тестовые вопросы:
Часть А:

1.factories, children,shelves, остальные с окончанием –s.

2.This is a fat.

3.are, is, is, are, are, is.

4.one teacher, three doctors, fifteen fireman

5.more important, most important.

6.shorter, interesting, more interesting.

7.in, on, into,from.

8.d.

9.e.

10.c.

11.c.

12.e.

13.a.

Часть B.

1-c, 2-b,3-c, 4-b, 5-b, 6-b, 7-d, 8-a, 9-b, 10-c.

5. Мини-рассказ:

Составить мини-рассказ по одной из пройденных тем на ваш выбор и прочитать его.

